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(NITI72 40) C++ N1DIN- ‘N 77N

(NITI71 20 — A7TRW 737) 4-1 NI7TRWA AN DN 7Y My

JTOWs MY 990N NXY MY COLS DY D900 DY NXMLN NOIAPNI MNPN 21N
NNILNI YOMIPNN TV AN PINM NINN PNPNN
PXPNON NONN

int findMin(int matrix[] [COLS], int rows)

TN NINY INNND 3 NN rows = 671 COLS = 5 IWNI ,AINID NNIONN MNIAY :HaNT
;NN HNIPNPN

17 20 42 72 23
8 6 19 4 87
80 64 11 22
14 25 37 25 66
79 48 21 17 68
78 11 33 16 7

YN
NN DNN DY P AN OMPHN TWN I NI e
.COLS y1Iapn A mmn D mind 11 e

Jows MMNMYN 990N NXY MTINY COLS Dy D8N DY NNMI0N NYAPHN PPN 1IN
TN NNDI 1AW KND 220N DINNNIN ,DIN0N DOIRNA 0 TN DN DWN MIPNaN
RPYaDYan!

NN DWH W 1t NIPNY,NN0NN JOVT DY NNNDI ONPNN TIVD 1Y NIPND 20 DD W
N0 MY DININIY DONNA P 0 TN

PXPNON NN

void surrondMin(int matrix([] [COLS], int rows)

PTYNN NX0ND , 3 0DPNN TN WNI /N PYOI DIOIVTIN NYIVNN MY NPT

N7 19IN2
17 20 42 72 23
’ 4 87
1 2
25 66
17 68
16 7
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NN0N1 , 3 99091 TWM rows = 571 COLS = 6 WNI ,ININ NSMI0NN NIY N
NI 19N PTYNIN

72 23

4 87

80 3 64 11 22
14 25 37 25 66
79 48 21 17 68
78 11 33 16 7
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3NN

NN J9IND NNNI DY IWIND DI MY D1NN DY SWIRD 190N DN 1MV Soldier NpbNN
#include <stdio.h>

class Soldier

int personalNumber; // >¢x990n
char* name; // 5»nin ovw
int profile; // D99

LOPYIINRD INM DI NN DAPHNN IPONNY NI N X (' é)

PN YYTO PHRID W NINN IWNND ¥ 310 DR IPONND NPNYN NI wond TRSw DN .3 (7P 4)
AVUNNY TN

TN PN YITH PHID ¥ MINK VNN ¥ 10 ON PSRN PN vond ™M W ORN 3 ('pr4)
R17}aTap

19901 P ANNYAN PPIONP DN NY P IRNYD YSIN WN < NOIIRD N WHD T ("Pr 4)
DMNN DY SWIND

Ny§an ,DNOY DINIAD DY NNDW ,DMOMN 2 APTIN WK NISP main MON NI .0 ('prd)
ANV MAY WY OIYIND IDDNNY DMNN NN NINNI ,DOYWIND DIMISON P2 INNYD
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

#include <stdio.h>

#define SIZE 6

void main ()

{

double arr([SIZE] = {1.1, 2.2, 3.3, 4.4, 5.5, 6.6};
double *ptrl = arr, *ptr2;
int 1i;
* (ptrl+4) += 2.5;
for (ptrl=arr ; ptrl < arr+SIZE ; ptrl+=2)
{
(*ptrl) ++;
printf ("%1f ", *ptrl);
}

printf ("\n%d\n", ptrl-arr);

4 NNV

TP YOp PND

for (ptrl=arr, ptr2=arr+SIZE ; ptrl < ptr2 ; ptrl++, ptr2--)

{
double t = *ptril;
*ptrl = *(ptr2-1);
* (ptr2-1) = t;

}

printf ("\n");

for (i=0 ; 1 <« SIZE ; i++)

{

printf ("%1f ", arr[i]l);
}
printf ("\n");

113-9 YN 1IN INND TMINN NN NN
114 717 WX INND 1IN0 109 TH N

125-22 DY X FNRY NNONN NONTH N
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(nITI72 60) YHDL - ‘2 7'7n

(NITI71 20 ~ ATNW 757) 10-5 NIYRWA Pap WITY 7V m1y

5 N7NY
:DINID NONN MM
library ieee;
use ieee.std logic 1164.all;
entity f a is
port (a,b,Cin: in bit;
Co,s: out bit);
end;
architecture behave of f a is
signal inp : bit_vector (2 downto 0);
begin
inp<= a & b & Cin;
with inp select
Co<='1l' when "011" | ™101™ | ™110" | "111",
'0' when others;
with inp select
s<='1' when "0O1"™ | "0Q1O0" [ ™100"™ | ™11l1",
'0' when others;

end behave;
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library ieee;
use ieee.std logic_1164.all;
entity tar_5 is
generic (size : integer :=3);
port ( x,y : in bit vector(size-1 downto 0);
toz : out bit vector ( size downto 0));

end;
architecture gnrt of tar 5 is
signal m: bit vector(size downto 0);
component f a is

port ( a,b,cin : in bit:;

co,s : out bit):

end component f_a;
begin
m(0)<='0"';
loop a: for i in 0 to size-1 generate

ui : £ a port map (x(i),y(i),m(i),m(i+1),toz(i));
end generate loop_a;
toz(size)<=m(size);
end gnrt;

200 NN tar_5 MIINNIN NINNN NIINN DX INDNN DWVIN PHITHI LV X ("9 8)
DIVIDN DY DD DY DIMIPINT MNYN DR DIV NI OIVID DY Tapin

NIIYHN DY DIRIINT 28N DN 112 DHYMN DN INNNTT DX NPNIAN NNANNY pryn a2 (P 8)
J0' NI DINNINA DI OW yNSNNAN AXHNAY NNND W Ltar_S DNMONA DININNNI

000 > 001 X 010 X o011 X 100 X 101 X 110 X 111 »
«Loo0 >< 010 X 100 X 110 X 000 > 010 X 100 X 110 >

725 NHNYY TN

9N IMIWIN GENERIC 1Mipa1 D10 DWIMWn NKY IMYPYni IN 1100 . (793 4)
5bY tar_5
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(NI NNONN NN
library ieee;
use ieee.std logic_1l164.all;
entity tar 6 is
generic (pi: integer :=2);
port ( clk : in bit;
Fout: Buffer bit);

end;
architecture behave of tar_6 is
signal cnt: integer range 0 to pi;
begin
process (clk)
begin
if clk'event and clk='l' then

if cnt<pi then

cnt<=cnt+1;

else
cnt<=0;
Fout«=not Fout;
end if;
end if;

end process;
end behave;

ANND ONNNA NNINN 2NN NN OOYM 000N NNVNYT NN N11NIAN N1ANND pRyn
NYINN

e ClK 0
2 Fout |0

N6 NHNVY 9N
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library ieee;
use ieee.std_logic_l1l64.all;
entity tar_ 6B is

port ( d: in bit _vector(3 downto 0);

y: out integer range 0 to 3);

end;

architecture behave of tar_6B is
begin
y<=3 when d(3)='1"' else

2 when d(2)='1' else

1 when d(1l)='1' else

0;

end behave;

$ININ DODHN NN

a3ND DNNN2 Y RXINND 230 DX N2 DOYM , DN NNINYT IR NPNIN NIANHD PRy

-

JNNInn

A (’ps 10)
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7 A'TRY
@INID DMIONN 1IN
library ieee;
use ieee.std logic_1164.all;
entity tar_7 is
port ( clk,rst : in  std_logic;
red, orange,green: out std_logic);
end;
architecture behave of tar 7 1is
signal cnt : integer range 0 to 15;
begin
process (clk,rst)
begin
if rst='1' then cnt<=0;
elsif rising edge(clk) then
cnt<=cnt+1;
end if;
end process;
red<='1' when cnt<4 else '0';
orange<='1l' when cnt>3 and cnt<7 else
clk when cnt>7 and cnt<l2 else
ot
green<='1l' when cnt>10 else '0';

end behave;

-10-
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2815 DNNNA DIRNIDN 28N NN OOYM DO INMNT I NPNAN NIINNS PHyn
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NN
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st red |0
=324 orange [0
k=z¥y green (0
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INIPN J9INDY YNV 19INA ST NN NIINA MOAPHN TP NPDD (N8 NHNYD
AMyY Ny 533 DNN MD)
CLK
— ™ mown
— SL . mp »m 7
"1101"
——
RESET
N8 NONWYY N
NIIYHN) NIRAN NONTI WINVY 293, TIPN NOOP DY PI'1'°5 '0N 7D Z RN
N2 TP N NN |
—

SIm:mOlf101110110101' 1
zZxyw (0 0|0 o1 ololo|1]o 0o 1]o]0o o]0
NANIY MONA NN NIIWNN NS DN NINDHD ("MPN2”) DD IDMOT VLI 2 (73 5)

N Pyo2
9 N7NY
NN YYD TY DIND 19D ONIWY NN DK Nysanin VHDL nswa mdpn nnd X (7P 10)

NXID2 POT NMIN XN DAND YWNN INHNN DY 92yN0 53a¥ NN VY 7MOY Y51 DTPIN
N9 PORYY 9PN DND) CO

CLK 4
— | m» '7%’

MY
———
RESET (6(6)

N9 NHNVY MN

-12-



2013 23X - 90729 )ONRY

a2 ("py 10)

NN SY SONID NNON NI

_ 8 €110 AH_|I.,

I
YHINNOD TVINIDHA "

YAINNOD TVINIOAA “

0" L0NVSY Ty 0°610AVY Ty
il
39A
1 _
JInan — Y
|||||||||| € T T T T T R T
> ST ] S— 0  Isual— 0 Isuf— R iy _
[} | ]
foelx 1D [07€lx 1D [07€]lX IO ﬂ_ Y001 _
n _ _szH
|
|

NANIY MIINT YIDY NN NN 132N DX NINNNTD VHDL Nava non 203
¥ MNN N8 TNNY ~ GENERATE" PORT MAP MMpal wnnwind ¥ N 9yl

0Nt 107

-13-



2013 IR - 90729 ONY

10 NIRW

Tar_10 13911 NNm
library ieee;
use ieee.std_logic_1164.all;
entity tar_10 is
port (clk,rst : in std_logic;
a,b,c: buffer integer range 0 to 3);

end;
architecture behave of tar_ 10 is
signal ax,bx : std_logic;
begin
a_process :process (clk,rst)

begin

if rst='1' then a<=0;

elsif rising edge(clk) then

if a<2 then a<=a+l; ax<='0";
else a<=0; ax<="'1";
end if;

end if;

end process a_process;
b _process :process (ax,rst)

begin

if rst="1' then b<=0;

elsif rising edge(ax) then
if b<2 then b<=b+l; bx<=10"';
else b<=0; bx<='1";
end if;

end if;

end process b_process;

-14-
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c_process :process (bx,rst)
begin
if rst='1'" then c<=0;
elsif rising edge (bx) then
if c<2 then c<=c+1;
else c<=0;
end if;
end if;

end process C_process;

end behave ;

N2WAN Y9DY NXINN MTINYA 0NN NN OOV ,NININ NYAVN NN THIANND PHYN
19202V NY2IDD MY DINNN 29793 Tar_10 N NININNN
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-15-

X ("p3 10)

»y



2013 AN - 90729 PONY

4 pa’'l’ moN SY MNND (shift) NN NYSANN VHDL Nowa ANOH NN 210
X 901N X1INN (MNYH 1D T MDON DI NYY NNdY 533) 1D DY NPo
:NIN YTO NN PP NN YIP

X ="0" N¥anh WNI
M) "1000" « "0100" « "0010" « "0001"

X ="1"N1Iann NI
emm) "0001" « "0010" « "0100" « "1000"
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